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MBA
(RURAL MANAGEMENT)

Q1. The average age of the mother and her 4 children is 10 years which is reduced by 6
years if the age of the mother is excluded. How old is the mother?

(@) 34years
(b)  30vyears
(c) 38 years
(d) 40years
Direction (2-4) : What should come in place of question mark(?) in the following questions?

Q2. 115% of 4880 -85% of 1640 =7?

@) 4218
(b) 4368
(c) 4448
(d) 4628
Q3. 3251+587+369-7? = 3007
@@ 1250
(b) 1200
c) 1375
d) 1400
Q4.  3/9261x+/7056 =?+89
(@) 1475
(b) 1875
) 1680
d) 1675

Q5. Amit has Rs. 32 more than Sumit. Sumit has Rs. 48 more than Uday. If all of the three
together have a total of Rs. 194, then how much amount does Amit have ?

(@ Rs.78
(b) Rs.68

(©) Rs.102
d) Rs106
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Q6. Inan examination it is required to get 65% of the aggregate marks t°_ pass. Astudent
gets 684 marks and is declared failed by 8% marks. What are the maximum aggregate

marks a student can get?
(@ 950

(b) 1200

() 1050

(d) 1100

Q7. The average age of eleven cricket players is 25 years. If the age of the coach is also

included, the average age increased by 10%. The age of the coach is:
(@) 45years

(b) 65years

(c) 50 years

(d) 55 years

- Q8. 7777 =+~ 11+888=+-6=7

(@ 855
(b) 857
(c) 853
d) 850

Q9. Onwhat sumdoes the difference between the compound interest and the simple interest

for3years at 10%is Rs. 31 ?

@ 1500
(b) 1200
¢) 1100
(d) 1000

Q10. Atrain passes two bridges of 800 m and 400 min 100 seconds and 60 seconds respec-
tively. The length of the train is

(@ 80m
(b) 90m
() 200m
(d) 150m
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Q11. Rohitwalks at6 kmvhr and reaches his destination 10 min late. If the walks at 7 km/hr. he
reaches his destination on time. What distance he will cover in given time ?

@ 7km
(b) 6km
(©  9km
(d)  12km

Directions (12-15) : Study the given information carefully and answer the questions.

The data given below shows the production of three types of cropsi.e. Wheat, Rice and
Barley by a farm. The production of Rice is 150% more than that of Barley while produc-
tion of Rice is 125 ton less than that of Wheat. Some crops are rotten due to rain. Ratio of
rotten Wheat, Barley and Rice are in the ratio of 6 : 4 : 3. 16% of the wheat rotten which is

120 ton..
Q12. Product of Wheat is what percentage of that of Rice ?
(@ 120%
(b) 150%
250
(c) 180 %
(d) 3 %
Q13. Whatis the ratio of production of Wheat, Barley & Rice ?
(@ 6:5:2
(b) 5:4:3
(c) 6:3:2
(d) 6:2:5
Q14. What percentage of Rice crop is rotten ?
(@ 12.8%
(b) 8%
(c) 9.6%
(d) 48%

Q15. Whatis difference between the total production of crops and total rotten crops in farm?

(@) 1265ton
(b) 1365 ton
(c) 1235 ton

(d) 1465 ton
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days while 3men and 2 women

n20
ys 2 men and 1 woman

Q16. 2men and 3 women can complete a piece of work i
how many da

can complete the same work in 16 days. Find outin
can complete the same work?

(@) 24days
(b) 25days
(c) 26 days
(d) 27 days

Q17. The ratio of four wheelers and two wheelers in the parking is 11 25 reSp?CﬁVG‘y- The
average number of four wheelers and two wheelers in the parking be 324. Find the num-

ber of two wheelers in the parking?

@ 410
(b) 405
(c) 420
d) 450

dwalks 3 km. Then takes anotherleftand

Q18. Rajeshwalks 7 kmto the north then turns leftan
in kmis he away

continue walking this time another 7 km forward. How much distance

from the starting point.
(@ 10km

(b) 6Kkm

(cp 3km

(d) 2km

_Adter five months, Sameer joined with a

Q19. Kamal started a business investing Rs 9000/-
y earn a profitof Rs. 6970/-, then what will

capital of Rs. 8000/-. If at the end of the year, the
be the share of Sameer in the profit ?

(a) Rs. 2380

(b) Rs.2300

(c) Rs.2280

(d) Rs.2260

Q20. What s the least number of square tiles required to pave the floor of a room 15 m17 cm

long and 9m 2 cm broad ?

(a) 814

(b) 820

(c) 840

(d) 844
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Q21. Choose the correct antonym of the given word. (21 & 22)
Transmit
(@) Televise

(b)  Withhold

(¢)  Reply

(d)  Show
Q22. Stagnant

(@) Inertia

(b)  Progress

(c) Mobile

(d)  Effervescence
Fill in the blank with appropriate preposition. (23 & 24)

Q23. Suresh’'s mindwas attuned___ music.
(@) at
(b) on
() with
(d to
Q24. Theprincipalcalled____ the names of the winners.
(@) for
(b)  out
() on
(d at .

Fill in the blank with the appropriate word or group of words. (25 & 26)
Q25. |had already published a novel and it was an unexpected success. | thoughtmy
(@) dayswereup
(b)  chanceswere good
(c) lady luck was happy
(d)  fortune was made .
Q26. The plane crashed. The Pilot_____did not see the tower.
(@) likely
(b)  probably
(c) scarcely
(d) hurriedly
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Choose the correct synonym of the given word. (27 & 28)
Q27. Embezzle

(@)  Misappropriate

(b) Balance
() Remunerate
(d)  Clear

Q28. August

(@) Common
(b) Ridiculous

(c) Dignified.
(d) Petty
Q29. Google is one of the most popular search engines, itis by the internet users.

(@  utilised
(b) effected
(c) examined

(d) tested
Q30. Sunita's face spoke for the happiness she was feeling.
(@) high '

(b) wonders
(c) laurels
(d) volumes
Choose the one which can be substituted for the given sentence.(31-33)
Q31. The large scale departure of people
(@) Exodus.
(b)  Arrival
(c) Entrance
(d)  Standing
Q32. A book containing summarised information in all branches of knowledge.
(@)  Anthology
(b)  Dictionary
(c)  Directory
(d)  Encyclopaedia
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Q33. Ageneral pardon granted by the government to political offenders.
(@) Amnesty

(b)  Excuse
(¢)  Honesty
(d) Pardon

Direction (34-38) A vexed problem facing us is the clamour to open more colleges and to
reserve more seats for backward classes. But it will be a sheer folly to expand such
facilities recklessly without giving any thought to the quality of education imparted. If
admissions are made far more selective, it will automatically reduced the number of
entrants. This should apply particularly colleges, many of which are little more than degree
factories. Only then can the authorities hope to bring down the teacher-student ratio to
manageable proportion. What is more, teachers should be given refresher courses, every
summer to brush up their knowledge. Besides, if college managements increase their
library budget it will help both the staff and the new students a great deal

At the same time, however, it will be unfair to deny college education to thousands of
young men and women, unless employers stop insisting on degrees even for clerical
jobs. For a start, why can't the Government disqualify graduates from securing certain
jobs, say class lll and IV posts ? Once the link between degrees and jobs is servered at
least in some important departments, it will make young people think twice before joining
college.

Q34. What can automatically help to reduce admission.
(@) throughentrance tests
(b)  Discouragement to open new colleges
(c)  Selective admissions
(d)  Abolishing reservation
Q35. Many ofthe new colleges are
(@) Centres of advanced learning
(b)  Research Institutions
(c)  Factories producing degree holders
(d)  Known for their academic excellence
Q36. How canteachers brushup their knowledge
(@) Byarranging refresher courses
(b) By providing monetary help/incentive
(€) By providing better library facilities
(d) Bysendingthemabroad
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Q37. The authoris in favour of restricting college admissions.

(@)  Onlywhen degrees are delinked from jobs

(b)  Whenalternative avenues are open for the students

(6)  Whenthe teacher student ratio is reduced

(d)  Onlywhen parents think twice before sending their children
Q38. The phrase “Vexed Problem” means

(@  Aserious problem

(b)  Adebatable problem

(¢)  Adifficult problem

(d)  Animitating problem

Choose the pair that represents a similar relationship to the one that expressed in the
original pair of words. (39 & 40)

Q39. Food:Hungry::
(@)  Thought: Politics
(b) Rest:Weary
() Water:River
(d)  Wine: Intoxication
Q40. Suggest:Demand::
(@) Take:Grab
(b)  Question: Ask
() Give:Receive

(d) Deny:Request
Fillin the blank space.

Q41. 4,7,12, 28,39
(@ 19
(b) 24
(¢ 14
(d 16
Q42. Whatis the next number in this sequence. 30, 34, 43, 59, 84, 120, ?
(a) 169
(b) 148
(c) 153
(d) 176
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Q43.

Q44.

Q45.

Q46.

Q47.

Q48.

Seismograph : Earthquake : : Taseometer: _ 7
(@) Landslides

(b)  Strains

(c)  Resistances

(d)  Volcanoes

Medicine : lilness ::

(@) law:anarchy
(b)  hunger: thirst
(c) etiquette : discipline
(d) love:treason

|}

In a code, CORNER is written as GSVRIV. Howcan CENTRAL be written in that

code ?
(a) DFOUSBM
(b) GIRXVEP

(c) GNFJKER
(d)  Noneofthese
JAK, KBL, LCM, MDN,

(a) OEP
) NEO
) MEN
d) PFQ

Five children are sitting in a row. S is sitting nextto P but not T. Kiis sitting next to R, who
is sitting on the extreme left and T is not sitting next to K. Who are sitting adjacentto S.

@ K&P
(b) R&P
(c) OnlyP
(d PandT

Blueberries cost more than straberries.

Blueberries cost less than rasperries.

Resperries cost more than straberries and blueberries.
If the first two statements are true, the third statement is
(a) true (b) false

(¢)  uncertain (d) none
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Q49. Some keyboards are mouse. Some mouse are radios.

Conclusion
l Some keyboards are radios
M. Some radios are keyboards

. All radios are mouse

V. All mouse are keyboards

(@  Onlyconclusionlis valid

(b)  Only conclusion llis valid

() Eitherlorllis valid

(d)  None ofthe conclusions s valid
Q50. Whichis the essential part of school ?

(@)  student
(b) report card
(c) test

(d) leaming
Q51. Whichis the essential part of Guitar?
(@) band
(b)  teacher
(c) songs
(d)  strings

Q52. Which one of the following words is not a part of the group formed by remaining words.
The remaining words form the group on the basis of certain similarity.

(@) Name
(b) Game
(c) Fame
(d) Shame
Q53. Ais B's sister, C is B's mother, D is C's father, E is D's mother. Then how A is related
toD?

(@)  Grandfather
(b)  Grandmother
(c) Daughter
(d)  Granddaughter
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Q54. Inacodelanguage if POSE is coded as OQNPRTDF, then the word TYPE will be coded
as

(@) SUXZOQFD
(b) SUXZQOFD
(c) SUXZOQDF
(d) SUXZQODE
Q55. Assertion (A) : When lightning strikes, the sound is heard allittle after the flashis seen.
Reason (R) : The velocity of light is greater than that of sound.
(a) BothA&Rare true and Ris the correct explanation of A.
(b) BothA&Raretrue butR is not the correct explanation of A.
(c) AistruebutRis false
(d) AisfalsebutRis true
Q56. Which business conglomerate is set to buy the retail business of Future Group.
(@)  Reliance Industries Ltd.

(b) TataGroup
(c)  AdaniEnterprises
(d)  Mahindra & Mahindra
Q57. As perthe Budget 2021-22, what is the estimated Fiscal Deficit for the current financial

year ?

(@ 9.5%
b) 7.0%
() 4.0%
d) 2.0%

Q58. Which among the following is called “Mother of Pearl"?

(@) Ammolite

(b)  Nacre
()  Tusk
(d)  Seashell
Q59. Which bank has the lowest interest rate for Home Loans in India?
(@) SBI
(b) HDFC
(c) ICICI
(d) RBI
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Q60. Which state has launched Mukhya Mantri Rural Street Vendor Scheme?
(@)  Gujarat
(b)  Madhya Pradesh
()  Maharashtra
(d) Bihar

Q61. Whichofthe following banks s also known as|.B.R.D.?

(@)  Intemational Bank
(b)  Asian Development Bank
(c) Bankof America
(d) WorldBank
Q62.  Which among the following state produces maximum raw silk in India ?
(@) Bihar
(b)  Assam
(c) West Bengal
(d) Kamataka
QB3. Consider the following pairs.
1. Floriculture- the cultivation of flowers
2. Silviculture - the growing and cultivation of tree
3. Pisciculture - the raising of fish commercially.

Which of the above is/are correct?

(@) 1&2only
(b) 2only

(c) 1&3only
d 1,2&3

Q64. “Kargam’is a folk dance of which state ?
(@ Kerala
(b)  Tamil Nadu
(c) Karnataka
(d)  Andhra Pradesh
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Q65.

QE6.

Q67.

Q68.

Q69.

Q70.

“Birdie” and “Eagle” are two terms related to which of the following sports?

(@  Polo

(b)  Golf

(c) Chess
(d)  Billiards

Swadhinata Puraskar is the highest civilian award of which country ?
(@) Myanamar

(b)  Bangladesh

()  SriLanka

(d)  Nepal

India’s leading State in milk production-

(@)  Madhya Pradesh

(b)  UttarPradesh

(c)  Punjab '

(d) Haryana

Which of the following is the greatest source of power production in India.

(@  Thermal power

(b) Hydro electric power

(c) Atomic power

(d)  Wind power

Sandal wood is mainly produced in -
(a)  tropical dry deciduous forests
(b)  thornforests

(c)  tropical wet evergreeen and semi-evergreen forests
(d)  tropical moist deciduous forests
The Kalinga Award is given by the-

(@)  Ashoka Foundation

(b) UNESCO

(c)  Government of India

(d)  Governmentof Odisha

&
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